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No. | Z£A B i = B x 4 EE (E) " =
1| 12/2 [HEBSEBEBHRS mERE ®|AE| 10000 |HE-BIHE
2 | 125 |$EIISTRE TEIRZSENE EFT | e | 10000 [hE-EHE
3 | 12/7 |FrRBEASERRHBSE FIMRIETES BHt&E| 5,000
4 | 12/9 |KER2HESR miEEKEIEERE B|%E| 5,000
5 | 12/13 |[MEMRBALBHS iR XIEES Bt&E| 5,000
6 | 12/14 |{AAMRIBIEERHAS HEBXEES | 5,000
7 | 12/15 |NERHBRE NiES 2% | 14000 |[HE-EIHE
8 | 12/17 |BAETRFLIXHALI10FAFTENESR _gg‘g*i%}‘axgl-}%ﬁgxﬁﬁai =% | 3,000
9 | 12/19 |ERMEBIASBHS ERMEEES BIXE| 5,000
10 | 12/20 [HIERSESRBHRE TMEASESS =% | 10000 |[HE-BIHE
1| 12/22 [HAREBREABEEBRH= mhRERHS BKE| 5,000
12 | 12/26 |[MRFESBHRE TMREEZS =% | 5,000
13| 12/29 [MCHFHIERER KR DBHRE TEEE BIXE| 5,000
14
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& 87,000




